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Multiple Choice (only one answer is correct)
	1. 
	One of the following is NOT a function of Human Resource Management.

a.) To enable the organization to achieve its objectives.
b.) To take initiatives and provide guidance and support on all matters relating to its employees.

c.) Creating appropriate environment for working effectively and realizing the potential of people and the organization.

d.) Provide openness, ability to drive change

	2. 
	First line managers usually have some HRM functions. One of the followings is an example of that:

a.) strategic HR planning

b.) operational HR planning

c.) job design

d.) job evaluation

	3. 
	Situational factors were introduced first in the…
a.) Michigan School model

b.) Harvard framework

c.) Job Design Model

d.) Strategic HRM model

	4. 
	In the Harvard Framework … accept more responsibility for ensuring the alignment of competitive strategy and personnel policy.
a) first-line managers          b) line managers              c) HR managers                d) employees

	5. 
	Job performance is a function of …

a) …ability

b) …motivation

c) …ability and motivation and job design
d) …job design and job evaluation

	6. 
	… is an approach to obtain, analyze and report on data which informs the direction of value-adding people management strategic investment and operational decisions at corporate level and at the level of front line management.
a) Human Capital Management

b) Personnel Management

c) Operations Management

d) Human Resource Management

	7. 
	… places more emphasis on strategic fit and integration, than …
a.) Traditional Human Resource Management; Strategic Human Resource Management

b.) Human Resource Management; Personnel Management

c.) Reward Management; Performance Management

d.) Sourcing; Recruitment

	8. 
	Calculate the 2 year survival rate of employees hired in 2000, if 10 people were hired on 1/1/2000, 2 of them left the firm during the year 2000, and another 3 left during the year 2001.

	
	a.) 30%
	b.) 20%
	c.) 50%
	d.) 25%

	9. 
	Which one of the followings is true for the Soft (or humanistic) HRM approach?

a.) employees are viewed as a passive factor of production, an expense

b.) employees can be easily replaced and seen as disposable.

c.) it is a strategic, quantitative aspect of managing HRM as an economic factor

d.) emphasizing communication, motivation and leadership 

	10. 
	Which one of the following definitions is correct in the KSAO model?

a.) Knowledge: capability to perform tasks accurately and with ease

b.) Skills: more stable and enduring capability to perform a variety of tasks

c.) Abilities: organized body of factual and procedural information

d.) Other characteristics: anything required except knowledge, skills and abilities

	11. 
	In the hierarchy of objectives, which one of the followings is at the lowest hierarchical level?

a.) Business strategy

b.) Vision
c.) HR strategy
d.) Mission

	12. 
	A group of prescribed tasks/activities to be carried out is called …
a)  role                     b)  job                        c) function                        d)  task group

	13. 
	The part people play in their work/organization is called …
a)  role          b)  job         c) function         d)  duty

	14. 
	To which element of the KSAO model fits the following the most: ‘having a driving license’?

a.) Knowledge

b.) Skills
c.) Abilities

d.) Other characteristics

	15. 
	Which one of the followings is NOT a core job dimension?

a.) Skill variety

b.) Task identity

c.) Task significance

d.) Job performance


Calculation problem

There is a small shop with 2 jobs: J1 (manager), and J2 (sales person). The shop is open on every weekday from 9:00 to 18:00, and on Saturdays from 8:00 to 12:00. The manager has to perform its duties 8 hours a day on every weekday, independently of the opening hours. The sales staff has to start its work 0.5 hours before the shop opens and finish 1 hour after closing. In the given year there are 260 weekdays and 50 Saturdays (when are no public holidays). All employees are identical.  They have 22 regular leave days (allowance) per year and they are expected (based on past data) to be on sick leave for 8 days per year.

a) Calculate the annual workforce demand in man-hours in every job.

b) How many employees should be hired in each jobs (mathematically)?
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Answer Sheet
Multiple Choice (maximum points: 15)
Points: …….. / 15
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Calculation: (maximum points: 15)
Points: …….. / 15
a) annual workforce demand for J1: ……………………………… man-hours (4 pts)

annual workforce demand for J2: ……………………………… man-hours (4 pts)
b) ……………………………… employee should be hired for J1 (3.5 pts)

……………………………… employee should be hired for J2 (3.5 pts)
